: ®
| | !KYPC C€ 1S09001

| | | S! Series 1ISO6431 Standard Cylinder

SI-50x100 ESIJ—SOX 100-25
| ordering Code

Si — 50 X 50 — 25 — S — O]
Series Code Cyllndér Bore Stroke Adjust Storke Magnet Code Fixed Type
S1:1506431 Standard 32mm-200mm 25:25mm Blank:Without Magnet  Blank:Normal type
Double Action Type 50:50mm S:With Magnet LB:front and back fixed type
SID:1S06431 Standard Two 75:75mm FA:front cover fixed type(Front flange type)
Axis Double Action Type FB:back cover fixed type(Back flange type)
SIJ:1S06431 Two Axis CA:back cover fixed type (Single Earring)
Stroke Adjust Type CB:back cover fixed type(Double Earring)

TC:Central Trunnion Type
TC-M:Central Trunnion type attaching foot seat

I Internal structure

Designation NO Designation
1 Piston Rod Nut 10 Piston
2 Piston rod 1 Wearing
3 Front cover seal ring . 12 . Magnet(Optional)
4 O-Ring 43 Pistion O-Ring
5 Bearing 14 Pipe wall O-Ring
6 Front cover 15 Damping
7 Buffering O-Ring . 16 . Hex socket screw
8 Piston rod O-Ring 17 Back cover
9 Barrel

| Specification

Motion Pattern Double Action
Working Medium | Air
Fixed Type Normal type FAtype FBtype CAtype CBtype LBtype TC type
Working Pressure Range 0.1~0.9MPa
Ensured Pressure Resistance 1.35MPa
Operating Temperature Range 5~70C
Operating Speed Range 50~800mm/s
Buffer Type | Adjustable Buffer
Buffer Stroke 24 32

Port Size | G1/8" G1/4" G3/8" G1/2" G3/4"




| =y

l Overall Dimensions

sl

SiJ

Sl Series 1S06431 Standard Cylinder

i T

AZ+(Stroke) X 2+adjusted stroke

A+(Stroke)
B C+(Stroke)
IR S S < G
«H 2-Buffer nut
e
] R - l’t@
2 L = o alll A
DT TP
w 2-0/0 4. -l
4/Side's Breadth
NIQ QN
A1+(Stroke)x2
B C+(Stroke) B+(Stroke)

E F G G F E+(Stroke)
«—H 2-Buffer nut —H
¥ I SRS W i

S < .. @_.____0 S - . | -
o o s
D1 IR )
LIN[Q QN

F

4/Side’s Breadth

[ Dimension Sheet 5
N S S

40
50
63
80
100
125
160
200

159 213
175 244
180 259
214 300
229 320
279 308
332 484

B C+(Stroke) N
E F <]
H X
2-Buffer nut

207
233
250
286
308
372.5
448

54 105
69 105
69 120
86 128
91 138
19 160
152 180

35
40
40
40
45
60
65

32
42
40
53
55
74
94

(Stroke)
i
(=
_ _.}_I_._ vy o
#, A
Z+Adjusted stroke| >

27.5
18 29
25 30
24 31.5
30 355
32 36
45 46
58 50

24
32
32
40
40
54
72

19
24
24
30
30
41
55

Ce

6
7
8
8
10
10
13.5

18
18

ISO9001

M10:<1.25
M12x1.25 M6
M16>1.5 M8
M16>1.5 M8
M20x1.5 M10
M20x1.5 M10
M27 <2 M12
M36<2 M16
M36<2 M16

-——_

40
50
63
80
100
125
160
200

13.5
16
15.5
16.5
16.5
18.5
23
25
25

G1/8"
G1/4"
G1/4"
G3/8"
G3/8"
G1/2"
G1/2"
G3/4"
G3/4"

8.5

8.5 7.5
7145 8.5
1" 8.5

13.5 9.5
14 12

15 12

15 12

7.5

13.5
14.5
14
20
20

53
65
T
95
115
140
180
220

325
38
46.5
56.5
72
89
110
140
175

16
20
20
25
25
32
40
40

13
17
17
22
22
27
36
36

21
23
23
29
29
35
40
40



[ | | 1SO 6431 Standard Cylinder Accessories

KYPC

CE€ 1S09001

Symbol/Bore| 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
158 179 190 209 248 266 290 340 380
142 161 170 185 210 228 250 300 320
9 10 12 19 19 20 20 30
53 65 75 95 115 140 180 220
3 45 50 63 75 90 115 135
O T row IS 286 32 32 41 45 45 60 70
R E[g AH 32 36 45 50 63 71 90 115 135
@’/ B @ ° o 9 12 145 165 185 24
. AT K 3 4 4 8 6 9
ISO-LB Type Foot Bracket
Symbol/Bore| 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
s 47 53 65 75 95 115 140 180 220
[T 325 38 465 55 72 89 10 140 175
DC 2 25 27 32 36 41 5 55 60
B ¢ 2 2 15 15 20 25 a0 3
DE 10 12 12 16 16 20 25 30 30
B : ¢ 7 2 2 21 3 %5 3%

ISo-cA

DQ

258 278 317 387 497 59.7 697 89.7 897

- Symbol/Bore| 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200

e cC 22 25 27 32 36 41 50 55 60

o1 B ©c 2 12 15 15 20 25 30 30

cPigs CE 10 12 12 16 16 20 25 30 30

7z ' B 2 v 17 22 22 (271 3 35 3

Sz CcP 26 28 32 40 50 60 70 90 90

[er 45 52 60 70 90 110 130 170 170

SN A1 [ PA1 51 59 67 77 97 119 139 181 181
w*» PB1 [ PB1 455 525 605 705 905 110.5 130.5 170.5 170.5
_________ @ 47 53 65 75 95 115 140 180 220
1SO-CB-B+Pin 32,6 1 38 | 4651 566:51 72 89 110 140 175
Symbol/Bore| 32 40 50 63 80 100 | 125

A 66 66 9 9 11 11 14

e 1 o 15 15 18 18 20

BG 18 22 30 35 40 50 60

[UBAT 31 35 45 50 60 70 9%

BI 21 24 33 37 4 55 70

el s 10 12 14 14 17 2

BM 32 3 45 50 63 71 9

BN 38 41 50 52 e 16 94

BO 51 54 65 67 8 9 124

fes w0 15 16 16 20 20 30

BR 20 22 26 30 30 38 45

: B ¢ 15 16 16 25 25 32

e D 0 12 12 16 16 20 25

| [F 105 105 105 105 105 105 105

ISO-SDB Type ‘——BBOH—J _ G 3 3 3 3 3 3 3
[ B@& 2 28 32 40 5 60 70




BB
4 H
- %JEI B - © s o v ou 13 1
B I

o B BA 305 355 405 455 455 555 60.5 655
- 12 BB 10 10 12 12 16 16 20 20
”@%}J @] ST BC 47 53 65 75 95 115 140 180
2 i = ['BD | 32 3 45 50 63 75 90 115
_______ 29 BE 80 90 110 125 154 186 224 280
@éfm [UBF | 64 72 90 100 126 150 180 230
e | @ 91— BH 4 4 4 6 6 6 8 8
. 0B 7 9 9 9 125 145 165 185
ISO-FA/FB Type Flange T 325 38 465 565 72 89 110 140

_EUB1 Symbol/Bore| 32 40 ) 63 80

o EE-04 EG EB 100 13 125 140 160

@HC  EC ® 63 74 80 105

.= ED 325 38 465 565 72

ﬂ' R [ EE | = 63 75 90 105

25 25 25 25 25

12 16 16 20 20

20 22 22 28 28

a7 45 55 68 87

I1ISO-SI-TC

C€ 1509001

17
75.5
25
220
135
320
270
12

175

100
182
128
89
128
25

107.5



Standard Cylinder Accessories
ISO 6431 Standard Cylinder Accessories
Mini Cylinder Accessories

C€ 1S09001

NE
, ND
. v _NE_ NG |
1 e 2 T 7 /7
E ! ; - L
= i
] Y Type Al 1Tvpe
dNC i
ISO-Y+Pin I1SO-Y+Clip

Symbol/Bore 32 40 50 | 63 80 100 125 160 200

19 254 32 32 44.4 44.4 55 70 70

10 12 16 16 20 20 30 35 35

40 48 64 B4 80 80 110 144 144

52 67 89 B89 12 112 155 201 201

15 24 32 32 40 40 50 50 55

20 20 23 23 30 30 56 72 T2

M10x1.25 M12x1.25 MI16x1.5 MiI6xX15 M20x15 M20x15 M27x20 M3ExX20 M3Ex20

10 12 16 16 20 20 30 35 35

20 24 3z 32 40 40 54 72 72

1 Joint 52 62 83 83 105 105 148 191 191
26.2 32.8 39.3 39.3 53.3 53.3 64 80 80
20 26.5 33 33 45 45 55.6 70.6 70.6

Symbol/Bore| NA
20 16 8 30 40 11 15 M8 1.25 10 16 14 8 8 15 40 21 16.5
25 | 19 10 40 52 15 20  M10x1.25 12 20 18 10 10 20 52 25 195
32 19 10 40 52 15 20 M10x1.25 12 20 18 10 10 20 52 25 195
40 254 10 45 57 15 25 M12x1.25 15 24 23 14 10 20 57 31 26
TN S?é”;rbec" MA | MB | MC | MD | ME | MF MGEMH M MK
N 88 22 7 21 2 15 7 10 MI0X1.25 12
58 22 8 21 28 115 8 12 MI2x125 12
90 27 10 41 445 20 10 17 M16X15 7
90 27 10 41 445 20 10 17 M16x1.5 T
102 20 13 46 53 24 13 22 M20%X15 10
100 | 102 20 13 46 53 24 13 22 M20X15 10
125 147 54 13 64 62 39 14 30 M27x20 9
[748077 147 43 23 58 88 35 135 36 M36X20 15
UJ Type Float Joint 147 43 23 58 88 35 135 36 M36x20 15
Pa_ Symbol/Bore | PA | PB PD | PE | PF PG PH
- M 26 10 21 43 56 M10X125 13
12 30 12 24 50 65 M12x1.25 13
\ 15 38 16 a3 64 83 M16x1.5 156
- 15 3 16 33 64 83 MI6x15 15
. 18 46 20 40 77 100 M20X15 15
| 1 18 46 20 40 77 100 M20<1.5 15
r ; ,_I 37 70 30 51 110 145 M27 < 2.0 15
43 80 35 56 125 165 M36x20 16
43 B0 35 56 125 165 M36x20 16

PHS Type Fish eye Joint




	Page-4
	Page-5
	Page-32 mini
	Page-33 mini
	Page-36 mini

